BMAZ / Components

| (x®&% : TY-34)2008.02.08

No. % / Part name B& / Pcs ME / Material & . ZmAE / Color- Finish
4% %8 / External View K 2 BRI ABS (UL94V-0 TR L 79y 7
Side plate Flame-resistant ABS UL94V-0 Gray , Black
2 Jov hIL-—-L 1 7 v I BT YWN=, TIvs « LA+ & 7)TRE
Front frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated
3 i v RVEN 1 7 v 2 Hd YW=, TIvy « ZVIL L & 27U T7EE
Rear frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated
A NAAANRZN 1 7 W 2 A1100P t15 YWR=FWIA b, Toy 8%
Slide panel Aliminium A1100P t1.5 Silver anodized , Black Painfed
5 XIEDHNZN 1 7 b i A1100P t15 IYWK=FNZA b, T7y 78%E
Screwed panel Aliminium A1100P t1.5 Silver anodized , Black Painted
6 Hffe A (M M4 x 12) 8 % =SHEsOx— b
Screw(Countersunk M4 - 12) Steel Black trivalent chromate
7 Wt A +ZFREH M3 x 5) IA sk vy x =204 b
Screw(Phillips Trapezoidal head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 JLE / Rubber feef A Amd L / Rubber 77v ¥ / Black
] C Ak EERED) / Color TypelEnd of product numberd)
| | 2% / Code fI#K_/ Side plate JL—L- /%L / Frame- Panel
L j GS Ju— / Gray Y N N— / Silver
BB 79y 7 / Black 79y 7 / Black
= [ : :
o
M
o~
— : s i
360
I a
1 L . >
1 I
L H ILE / Self-adhesive rubber feet

HR A SHT BT %

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

SLOPED ENCLOSURE

fggtlay rO—-WARy 72

O

% /Approved | RO /Checked | B /Created |H% /Product number EE/Sca‘ew
i A x5T (F36-230 —
R —Y /Page
fERXB /Date 2024/10/09 173

AREOEEEIH|RKXESHINTFERITEIZIRELE T, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




RfR / Internal View

3.5

| ——

56.3

3.5

BAW~TE / Max dim. 341

| (x®&% : TY-34)2008.02.08

2 SH/NR)IL (RER)
Screwed panel (Internal View)

L o—

L \/
p joued 3PS / %’L@iﬁ’\fto\/\%\{\f

gL g6l W

18.9

INAIAFH ISV (RER)
Slide panel (Internal View)

. _ &% /Title
RASHIHFERIR ERIy tO-VvERy 72 @ |:}
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED EN[LOSURE
% /Approved | RO /Checked | B /Created |H% /Product number EE/S““:S
e | G5 KT CF36-230 ——
R —Y /Page
fER B /Date 2024/10/09 2 /3

ANEOEEEIIMNXEHIHTFEMIZEIZRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




-~

~ O IEH/NHR )L / Screwed panel

208

JINRJLERE / Panel Frontside

1.5

INAIAHINFR)IL / Slide panel

2081

INRJLERE / Panel Frontside

1.5

340.8

347

L-9L.7

REY - M

Surface protective film side

REY - M

Surface profecfive film side

| (x®&% : TY-34)2008.02.08

/N JLEME / Panel Backside

/N JLEE / Panel Backside

" _ &% /Title N —
RASHIHFERIR ERIy tO-VvERy 72 @ (—
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENELOSURE
&R /Approved | BRE /Checked | ®E/Created % /Product number EE/ScaleM
x5 A4 B (F36-230 —
R —Y /Page
fERXB /Date 2024/10/09 3/ 3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	CF36-23 Model (1)
	CF36-23 Model (2)
	CF36-23
	CF36-23
	CF36-23 Model (1)
	CF36-23 Model (2)




